
وعدد شركة ما عن المؤهل العلمي  والرجال فيتم سؤال عشرة موظفين من النساء في المثال التالي السؤال الأول: 

  بإدخالهاثم نقوم  التاليةنصنف البيانات باستخدام المتغيرات  والراتب الحالي،الخبرة  سنوات

  الجنس:

Male: 1           female: 2 

 المؤهل الدراسي:

Bachelor’s degree: 1               master’s degree: 2 

 الخبرة:

Less than 5: 1                       between 5 and 10:2                           greater than 5:3 

:الراتب  

 

                                

 

 

 
 
 
 
 
 
 
 



 التكرارية والجداول الإحصائيةلحساب المقاييس Frequencies الخيار استخدام
 

        
     
 



 
 
 
 
Frequencies 

Statistics 

salary   

N Valid 10 

Missing 0 

Mean 529.0000 

Median 520.0000 

Mode 500.00 

Std. Deviation 66.07235 

Variance 4365.556 

Skewness .435 

Std. Error of Skewness .687 

Kurtosis -.351- 

Std. Error of Kurtosis 1.334 

Range 210.00 

Minimum 440.00 

Maximum 650.00 

Sum 5290.00 

Percentiles 25 480.0000 

50 520.0000 

75 577.5000 



                        

 

 

 

 

salary 

 Frequency Percent Valid Percent 

Cumulative 

Percent 

Valid 440.00 1 10.0 10.0 10.0 

450.00 1 10.0 10.0 20.0 

490.00 1 10.0 10.0 30.0 

500.00 2 20.0 20.0 50.0 

540.00 1 10.0 10.0 60.0 

550.00 1 10.0 10.0 70.0 

570.00 1 10.0 10.0 80.0 

600.00 1 10.0 10.0 90.0 

650.00 1 10.0 10.0 100.0 

Total 10 100.0 100.0  

 



 الإحصائيةلحساب المقاييس descriptive الخيار استخدام

  

     

 
 
 
 
 
 
 



 
 

 التاليةتظهر لنا النتائج 

 

 
Descriptives 
 

 

 

Notes 

 

 

 

Minimum Maximum Mean Std. Deviation Variance Skewness Kurtosis 

Statistic Statistic Statistic Statistic Statistic Statistic Std. Error Statistic Std. Error 

salary 440.00 650.00 529.0000 66.07235 4365.556 .435 .687 -.351- 1.334 

Valid N (listwise)          

 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Q2) 

 

to use the T- test, we need to make sure that the population follows a normal distribution 

(can ignore this requirement when 𝑛 > 30) i.e. 

𝐻0: 𝑡ℎ𝑒 𝑝𝑜𝑝𝑢𝑙𝑎𝑡𝑖𝑜𝑛 𝑓𝑜𝑙𝑙𝑜𝑤𝑠 a normal distribution 

𝑉𝑠 

 𝐻1: 𝑡ℎ𝑒 𝑝𝑜𝑝𝑢𝑙𝑎𝑡𝑖𝑜𝑛  𝑑𝑜𝑒𝑠 𝑛𝑜𝑡 𝑓𝑜𝑙𝑙𝑜𝑤 a normal distribution  

However, we find the question he said that the population follows a normal distribution, 

so is not necessary to make this test. 

Now, 90% Confidence interval of the mean can be found in two ways: 

1) The first method: 

 



 

 

 C.I for the mean 



2) The second method:

 

 

 

 

 

 

It helps in the 

calculation of the 

confidence interval 

and find the 

statistical measures 



 

 

 

Helps in the normality test 



 

 

 

 

 

 

 

 

C.I for the mean 

As P − value > .1 

So, we except 𝐻0: 𝑡ℎ𝑒 𝑝𝑜𝑝𝑢𝑙𝑎𝑡𝑖𝑜𝑛 𝑓𝑜𝑙𝑙𝑜𝑤𝑠 a normal distribution  

  



Q3) 

 

to use the T- test for two sample, we need to make sure that  

1) The independence of the two samples: It is very clear that there is no correlation 

between the values of the two samples. 

2) The populations follow a normal distribution (can ignore this requirement 

when 𝑛1, 𝑛2 > 30) i.e. 

𝐻0: 𝑡ℎ𝑒 𝑡𝑤𝑜 𝑝𝑜𝑝𝑢𝑙𝑎𝑡𝑖𝑜𝑛𝑠 𝑓𝑜𝑙𝑙𝑜𝑤 a normal distribution 

𝑉𝑠 

 𝐻1: 𝑡ℎ𝑒 𝑡𝑤𝑜 𝑝𝑜𝑝𝑢𝑙𝑎𝑡𝑖𝑜𝑛𝑠  𝑑𝑜 𝑛𝑜𝑡 𝑓𝑜𝑙𝑙𝑜𝑤 a normal distribution  

However, we find the question he said that the populations follows a normal distribution, 

so is not necessary to make this test. 

*To make sure no more.............. 



 

 



 

 

 

It helps in the 

calculation of the 

confidence interval 

and find statistical 

measures for each 

sample  



 

 

 

 

Helps in the normality test 



 

 

 

  

C.I for the mean 

for the skim 

C.I for the mean 

for the whole 

As P − value > .01 for both populations. 

So, we except 𝐻0: 𝑡ℎ𝑒 𝑡𝑤𝑜 𝑝𝑜𝑝𝑢𝑙𝑎𝑡𝑖𝑜𝑛𝑠 𝑓𝑜𝑙𝑙𝑜𝑤 a normal distribution  



 

 

Now, the goal of the question: 

a) 𝐻0: 𝜇𝑤ℎ𝑜𝑙𝑒 − 𝜇𝑠𝑘𝑖𝑚 = 0   𝑉𝑠    𝐻1: 𝜇𝑤ℎ𝑜𝑙𝑒 − 𝜇𝑠𝑘𝑖𝑚 > 0    𝑎𝑡 𝛼 = .01  

and  

b) 90% Confidence interval of  𝜇𝑤ℎ𝑜𝑙𝑒 − 𝜇𝑠𝑘𝑖𝑚 

 



 

 

 

 

 

 

 

 



 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

This for test 

𝐻0: 𝜎𝑤ℎ𝑜𝑙𝑒
2 = 𝜎𝑠𝑘𝑖𝑚

2    𝑉𝑠    𝐻1: 𝜎𝑤ℎ𝑜𝑙𝑒
2 ≠ 𝜎𝑠𝑘𝑖𝑚

2   

As P − value >  .01 .So, we except 𝐻0. However, it is given in question. 

0/2 = 0 but as 𝑡 = 14.988 > 0  so  𝑃 − 𝑣𝑎𝑙𝑢𝑒 = 𝑃(𝑇18 > 𝑡) = 0 

then we reject  𝐻0: 𝜇𝑤ℎ𝑜𝑙𝑒 − 𝜇𝑠𝑘𝑖𝑚 = 0. 

 

99%  C.I for 𝜇𝑤ℎ𝑜𝑙𝑒 − 𝜇𝑠𝑘𝑖𝑚 



Q4) What is the relationship between the gender of the students and the assignment of a 

Pass or No Pass test grade? (Pass = score 70 or above). 

 
𝐻0: the gender of the students is indep. of a Pass or No Pass test grade 

𝑉𝑠 

 𝐻1: the gender of the students is not indep. of a Pass or No Pass test grade 

 

          



 

 

 



 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

𝑑𝑓 = (2 − 1) ∗ (2 − 1) 

As we can see that 

2 cells have 

expected count less 

than 5 because 

these 2 cells 

contain less than 5 

observations. So 

the solution is will 

be Merge cells 

until we get the 

expectation greater 

than 5 but here it is 

not possible, so 

take a larger 

sample. 

The Chi-Square statistic 

𝑃 − 𝑣𝑎𝑙𝑢𝑒 > (𝛼 = .05) so we except  𝐻0 



Q5) 

Ten Corvettes between 1 and 6 years old were randomly selected from last year’s sales 

records in Virginia Beach, Virginia. The following data were obtained, where x denotes 

age, in years, and y denotes sales price, in hundreds of dollars. 

 

a) Compute and interpret the linear correlation coefficient, r. 

b) Determine the regression equation for the data. 

c) Compute and interpret the coefficient of determination, r2 . 

d) Obtain a point estimate for the mean sales price of all 4-year-old Corvettes. 

 

Enter the age values into one variable and the corresponding sales price values into 

another variable (see figure, below). 

 

 

 

 



a) Select Analyze  Correlate  Bivariate… (see figure, below). 

 

Select “x” and “y” as the variables, select “Pearson” as the correlation coefficient, and 

click “ “OK” (see the left figure, below). 

 



 

The correlation coefficient is –0.9679  which we can see that the relationship between x 

and y are –ve and strong. 

b, c and d)  

Since we eventually want to predict the price of 4-year-old Corvettes, enter the number 

“4” in the “x” variable column of the data window after the last row. Enter a “.” for the 

corresponding “y” variable value (this lets SPSS know that we want a prediction for this 

value and not to include the value in any other computations) (see figure, below). 

 

 

 



 

Select Analyze  Regression  Linear… (see figure). 

Select “y” as the dependent variable and “x” as the independent variable. Click 

“Statistics”, select “Estimates” and “Confidence Intervals” for the regression coefficients, 

select “Model fit” to obtain r 2 , and click “Continue”. Click “Save…”, select 

“Unstandardized” predicted values and click “Continue”. Click “OK”. 

 



 

 



 

 



 

 

From above, the regression equation is: y = 29160.1942 – (2790.2913)(x).The coefficient 

of determination is 0.9368; therefore, about 93.68% of the variation in y data is explained 

by x. 


